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SE T F(FEF)
1 | EDPOO5 |4 % # 12 = 0 371 0.00 0.36 0.00 [ 000 [089 [115 | 108 1.62 2.46 5 (s
2 | EDPO06 (&2 g ] »+ 24 | po s 19 | 371 5.12 10.79 6.05 | 7.37 [12.63 [13.95 | 7.94 37.18 | 70.84 B (s
3 | EDPO07 |4 % % i 24-48 -] ps 0 371 0.00 0.00 0.00 [ 0.00 [ 0.00 | 0.00 0 0.04 0.3 ST A PN
4 | EDPO08 |4 2 5 . 48-72 | p& & o |37 0.00 0.00 0.00 [ 0.00 [ 0.00 | 0.00 0 0 0.01 v | BB
5 | EDPO09 (4 2 g« »+ T2 /| sk 0 371 0.00 0.00 0.00 [ 0.00 [ 0.00 | 0.00 0 0 0 5 [Eswe
6 |EDPO10|4&% ¢ % 0 371 0.00 0.40 0.00 | 000 059 [079 | 049 1.28 4.13 EIRCE A - TSN
7 |EDPO1L (4% ¢ #2426 30 » 45 ¥ 0 0 #DIV/O! 0.00 2.59 6.4 13.14 v (s
8 |EDPO16 |4 25 - 4 5 & 45 | 371 | 1213 22.69 17.18 [19.02 [26.38 |28.22 | 11.47 | 14.78 | 18.94 B |Esn
9 | EDPO17 |4 % # fi 4 g;,f,;a 5 & 6 371 1.62 1.95 013 [ 074 [ 317 [ 378 | 1.39 1.91 2.81 B s
10 | EDP022 | 5 - A& 5 4 v & 0 371 0.00 0.35 000 | 000 086 112 | 101 1.89 2.78 ERRCE A =S
11 | EDPO23 |5 = & 5 4 1t & 7 371 1.89 3.95 139 | 224 | 566 | 652 | 3.69 4.69 5.83 EIRCE A =TSN
12 | EDPO24 | % = & 5 4 & 347 | 371 | 9353 69.08 63.00 |65.03 [73.14 |75.16 | 62.46 | 6513 | 73.03 EIRCE A =TSN
13 | EDPO25 | % m i & 5 4 & 17 | 3711 4.58 25.02 19.32 | 21.22 |28.82 [30.72 | 1322 | 23.78 | 32.14 EIRCE A =TSN
14 | EDPO26 | % T A& 5 4 v & 0 371 0.00 1.52 000 | 045 | 259 [312 | 114 2.08 5.34 EIRCE A =TSN

EEHF(EEF)
1 [EDU00L|& % firag ¢ ik 2Bt £ v & 51 | 119 | 42.86 57.02 47.19 [50.46 | 63.58 | 66.86 | 40.37 51 61.56 R A =TT
2 |EDU002|%& % 7 % 4% CPR '+ & 0 371 0.00 0.05 0.00 | 0.00 [ 023 [033 | 007 0.24 0.46 EICE A E=
3 |EDU003| &+ OHCA s * Hf (e plew 4R 0 0 | #DIvV/O! | 0.00 8.33 1652 | 19.19 B |Esn
4 |EDUOD4|& s « et 16 7= & 0 371 0.00 0.08 0.00 | 0.00 [ 033 |[046 | 0.03 0.05 0.08 B |Esn
5 |EDUO0S[£# 5 4 24 | P AL S 5 371 1.35 0.79 0.00 [ 001 [ 157 | 1.96 0.6 0.97 1.56 R A TN
6 |EDUO06 |4 # 5 4 48 /| FEp €A 8 371 2.16 1.23 000 [ 026 | 219 [268 | 117 1.89 2.97 B |Esn
7 |EDUOO7 &5 4 T2 [ BN EEAY T 9 371 2.43 1.50 0.00 | 043 | 257 | 310 | 172 2.35 3.62 iR s
8 |EDUO0B|& 7+ 24 [P £E &L ifs 1 5 20.00 32.65 0.00 | 0.00 [23.20 [3250 | 1871 | 3015 | 36.91 B |Es
9 |EDU009 (& + 48 1 mp £ apy frnz 1 8 12.50 27.87 0.00 | 0.00 [5957 7542 | 1958 | 2654 | 31.52 B |Esn
10 |[EDUOI0|& v+ 72 [ mp £ ar b 1 9 11.11 23.66 0.00 | 0.94 |46.87 [57.73 | 2007 | 2588 | 3152 B |Esn
11 [EDU012 & 5 4 i ] % 2 5 2 5 0 371 0.00 0.05 0.00 [ 0.00 [ 023 | 033 0 0.01 0.01 B |Esn
12 [EDUOL7 & m A BE £ 25 2 3 0 371 0.00 0.00 0.00 | 0.00 [ 0.00 | 0.00 0 0.01 0.04 B |Esn
13 |[EDU021|4 2 5 4 % 2 3k 0 1 0.00 0.00 0.00 | 0.00 [ 0.00 | 0.00 0.08 0.09 B |Esn
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1 [ I1CPOOL |+esim s ¢ v g i v 35 | 123 | 28.46 10.76 ® (369 | 605 [1547 |17.82 | 24.61 288 | 4182 | @ | @ [mirx [mizk
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g A R i A3 | AR [Rr@3o)|pmTon| BF 18 | 128 |ismaiA|fsmemA
i Pk (1509 30| F20| F20] F30| 25 50 = |
2 | ICPO02 |4t s & 8 B Fjs i@ » 76 | 123 | 6179 46.43 ® |35.06 |38.85 [54.02 [57.81 | 60.23 | 6684 | 7459 | @ | @ [mfcE |k
3 | ICPOO3 [+c3k s 5 vt vs B » 19 | 123 | 1545 30.14 ® |1967 |12.16 [37.12 [40.60 | 29.28 | 3667 | 446 | @ Micd [mex
4 | ICP004 |4estp s @ v F ML g A HAE | O 35 0.00 0.00 0.00 | 0.00 | 0.00 | 0.00 0 153 2.83 MmicE [mrx
5 | ICPO05 ik 5 TR HARE MM ARELARAE| O 76 0.00 0.00 0.00 | 0.00 | 0.00 | 0.00 | 0.47 0.82 2.09 MmicE [mrx
6 [ ICPOO6 |43k s Bl ey g 2% A | O 19 0.00 0.00 0.00 | 0.00 | 0.00 | 0.00 0 05 1.81 Mmick [mx
7 [ ICPOOT |4e gt % ¥ e 8 o 0 35 0.00 0.00 0.00 | 0.00 | 0.00 | 0.00 0 0 0.09 micd [mrx
8 | ICPO08 |+cst % % B # 7k # ifm % 0 76 0.00 0.00 0.00 | 0.00 | 0.00 [ 0.00 0 0 0.04 mict [mx
9 | ICPO09 [4cdtp % F # M i 0 19 0.00 0.00 0.00 | 0.00 | 0.00 | 0.00 0 0.18 0.35 mici |mex
kG FE(FEF) PRECHIE
1 | ICU00L [+4c 38 s % b i % 123 | 232 | 53.02 51.59 42,07 |45.24 |57.93 |51.11 | 5659 | 6554 | 80.71 Miri [mex
2 | ICU002 |4e3k s 5 7 = % 7 24 | 29.17 17.34 ® |[000 [566 |29.03|3487 | 1002 | 1278 | 1543 Micd  [mrx
3 [ICU003 |24 -] pFp E£iE 4e gl 51t 5 0 17 0.00 1.08 0.00 | 0.00 | 4.64 | 6.41 0 0.16 0.33 Miri [mex
4 | 1CU004 |48 -] pFp £ 4eihgh 50t F 0 17 0.00 0.54 0.00 | 0.00 |306 | 432 | 016 0.4 13 Mird  [mx
5 [ICU007 [4c3k 5 % & i B 4L 0 0 | #Divior | 241 2.86 6.82 8.33 Miri [mex
6 [ ICU008 |4k 5 4 Fohlias 0 17 0.00 4.73 0.00 | 0.00 [11.28 |1456 | 1.12 2.97 4.79 Micd  [mrx
7 | 1CU009 [+ 38 5 5 T 32112 p 129 | 17 7.59 5.10 000 | 271 [6.03 | 686 | 442 5.18 806 | ® | @ |micz: |[mrex
8 | ICUOLL [4ezf o % s X BB H 2 X 0 | 123 0.00 0.00 0.00 | 0.00 {0.0000|0.0000| 0 0.14 0.49 Biri @ik
9 | ICU012 |4e s 5 s * B p BB (7 5 0 21 0.00 4.59 0.00 | 0.00 | 0.00 | 0.0 | 10.35 22 21.77 Mmick [mrx
BRG - (F4£F )
1 | IPPOOL (3 7 P sk A b & % % A& 1 2445 | 041 155 000 | 008 [303 |377 | 071 1.09 17 Wt (32w
2 | IPPO02 |fiFups 4 6 » 4eikp %0 & 7 | 119 5.88 6.75 178 | 343 [10.06 [11.72 | 227 3.51 5.05 Mict |B 24
3 | IPPO14 |tifs ¢ % 9 | 119 | 75.63 79.31 71.27 [73.95 | 84.66 |87.34 | 31.62 | 67.69 | 80.62 R SR
4 | IPPO19 [fire- 4% & ZAgi 24 ) pFot 0 90 0.00 0.00 0.00 | 0.0 [0.00 | 000 | 1.65 485 | 16.05 R A E N
5 | IPPO20 |ifalt & ¢ #54¢if 2 ) pt 5 0 0 0.00 0 8.33 10 R SCEY
6 [ IPPO23 |fifept? v ML mgdRAE [ O 51 0.00 0.00 0.00 | 0.00 |0.00000 [ 0.000 0 0.05 1.47 it |3 3w
7 | IPPO24 [fipep A semn ARl X R 4 B AR 0 |[1564 | 0.00 0.11 0.00 | 0.00 [0.24200 [0.30700| 0 0 0.48 ek (314
8 | IPPO25 |fifsps 4 £ jiedh i % 5 0 46 0.00 0.00 0.00 | 0.00 | 0.00 | 0.00 0 0.05 0.13 Bk 321w
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9 | 1PP0O29 | et 2 e sisyls w1 b #| 17 | 17 | 10000 | 100.00 100.00 |100.00 {100.00 |100.00 | 9822 | 99.44 | 100 Bk |3zs
BRGE(EEF) PR E
1 | IPU003 |= s 2 p 827 | 133 | 622 6.46 000 | 389 |10.21 |11.78 | 608 | 743 | 932 ® |:cn |34
2 [ 1PU0A [14 = p 2 s 0 | 122 | o000 0.77 000 | 000 | 196 | 255 | 071 | 126 | 2.22 P it |EeE
3 | IPUOOT | radei® 30 = & 2 | 133 | 150 125 | @ |000 |000 | 273 | 346 | 083 | 139 | 271 | ® Y SEEY
4 | IPU00S |afar - % 11 | w3 | 827 309 | @ |000 | 080 |539 |654 | 255 | 356 | 451 | @ | @ |¢ ot |52
5 | IPUOL2 i % 3k 1 o 7 | 133 | 526 5.09 066 | 210 | 7.89 | 933 | 174 | 215 | 248 Y SEEY
6 | IPUOI8 |2 77+ & o | o | #ovior | 000 0.00 | 000 | 000 | 000 | 0 0 0 oy |miy
7 [ 1PUOLO |21 2 = o | 0 | #owvor | 000 0.00 | 000 | 000 | 000 | 833 | 214 | 3171 Ee g |miy
8 | IPUO20 |2 =215 4 2 o | o | #ovior | 000 833 | 9167 | 9833 Fe g |Hiy
9 | IPUO2L 2174 2§ A2 (VBAC) & o | o | #ovior | 000 0 069 | 182 Ee g |miz
10 | IPUOZ22 |37 2 27 % o | o | #ovior | 000 0.00 | 000 | 000 | 000 | 0 0 0.11 PRSI Frppe
11 | IPU023 |37 2 oo » & o | o | #ovior | 000 0.00 | 000 | 000 | 000 | 0 0 0 ow |miv
12 | IPUO24 |k 2 5 7 = % o | o | #ovior | 000 0.00 | 000 | 000 | 000 | 0 014 | 033 PRSI prppe
13 | IPUOZ5 |372 2 14 < p £ » 125 o | o | #ovior | 000 0.00 | 000 | 000 | 000 | 0 0 179 Cow |mir
14 | 1PU2S [ rath B dlF 25 2 & 0 | 245 | o000 0.00 0.00 | 000 |00150 [0.0220] 005 | 007 | o1 P o6 |32
15 | PUO30 |2ras iF A At f 5 A& 25 | 0 | 874 | 000 0.00 0.000%]0.000%0.000%| 0.000%| 0.07 | 01 | 0.16 e
16 | IPUOAO | it < iteis 48 | Fp 7= & 0 | 46 | o000 0.00 000 | 000 | 000 | 000| O 0 0.05 e
17 | 1PUOAL |7+ = 21 % & & 0 | 0 | #ivior | 0,00 0.00 | 000 | 000 | 000| 833 | 1987 | 27.34 T T
18 | IPUO3 |iirip < k4 % 24 2 % 0 | 2445 | 000 0.00 0.00 | 000 | 000 | 000 | 0 0 0 TTHEET
19 | 1PUOSS |apampmogm o R eme ¥ 0 |2445 | o000 0.00 000 | 000 000 | goo| O 001 | 003 e |8
20 | 1PUOAS [rram mac B ¥ o s s o |70 | oo 0.00 000 | 000 [000 | ggo | O 0 0.04 it |32
21 [ 1PUOAT [ipap R & 2 & 0 | 2445 | 000 0.00 0.00 | 000 | 000 | 000| 001 | 002 | 0.09 TTHEEE
22 | 1PUO4B | i fags R I B 7 0 | 119 | o000 0.00 0.00 | 0.00 | 0.00 | 000| O 337 | 143 P it |32
P4 R E )
1 | OPS008 | # - 2 = 475 |16317| 291 4.87 449 | 466 | 534 | 551 | 1.87 | 272 | 468 WL | b
P55 B (R )
1 | OPPOOL |7 32 5 + ipa % 119 |16317 | 073 1.20 094 | 1.03 | 137 | 146 | 083 | 114 | 153 W |mTe
PR R(EE)
1| OPU0s [P Bk 2 0 [11900| 0.000 | 0.0009 0.00 | 000 |0.000 |0.000 | 002 | 003 | 0.05 B M
2 | OPUOS | 2 A M B 5 4 % 0 |11900| 0000 | 0.002 0.00 | 0.00 |0.008 |0010 | 0 0 0 GHE |
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1 | RCUOOL [RCWs wx % 4p B #* 3. 0 |1515 [ 0.00 1.00 0.00 | 0.00 [ 026 [035 | 025 0.59 0.82 Bk & |3 e

2 |RCUQO3|RCWF % ¥ i ¥ 4p B Rt B % % A& 1 | 646 1.55 3.45 0.00 | 0.00 [ 029 | 038 | 151 3.45 3.83 s 4 | % g

3 |RCU007[RCWZ-3 4 42 4 5 A & i % 0 155 0.00 0.00 0.00 | 0.00 [ 0.00 | 0.00 0 0 0 Bt g |3 e

4 | RCUOLL|RCW/E B3 17 0 49 0.00 0.00 0.00 | 0.00 [ 0.00 | 0.00 0 5.79 11.35 it g R

5 | RCUO12 |RCW  gL5 # 0 |[1515 [ 0.00 0.00 0.00 | 0.00 [0.00 [000 | 001 0.03 0.08 Fit g | g

6 | RCUOL5|RCW * v vx 2B we g & 74 % 0 49 0.00 0.30 0.00 | 0.00 [ 0.00 [ 000 | 025 1.42 9.46 it &R
4 (FEF)

1 |MGPOOL |, it i & 2445 | 5133 | 47.63 48.00 44.99 (45.63 | 48.18 |48.82 | 53.57 57.7 68.23 IRA [F2u
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